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QUESTION 1

A customer wants a new HP 3PAR StoreServ 7200 Storage System to maximize storage performance. What should the
customer implement?

A. quad controllers

B. Adaptive Optimization
C. 120 SSDs

D. Dynamic Optimization
Correct Answer: B

The HP 3PAR Adaptive Optimization (AO) software takes optimization a step further into sub-LUN tiering. AO migrates
sub-LUN data across CPGs based on user-defined policies. Two or three CPG tiers can be specified per policy; all

volumes inside a CPG are subject of an AO policy. AO policies usually operate on an FC and NL tier or on an SSD, FC,
and NL tier.

This tool can improve system response and reduce disk acquisition cost by storing frequently accessed data in the
faster tier while moving infrequently accessed data to the slower and cheaper slower tier.

Incorrect:
Not D: Related to online migration:

P 3PAR\\'s Dynamic Optimization (DO) software offers the functionality of EVA\\'s Dynamic LUN Migration: volumes are
migrated online to another CPG with a different RAID level, set size, drive media type , etc.

QUESTION 2

A customer is planning to migrate their master database to a remote location. Their network uses GbE for FCIP
tunneling. Which Fibre Channel switch port interface must they use?

A. EX_Port
B. E_Port
C. VEX_Port
D. VE_Port

Correct Answer: D

VE_Port--Virtual E_Port used with a GbE port for FCIP tunneling

*
You can configure a Fibre Channel port as an F_Port, FL_Port, E_Port, or EX_Port (Fibre Channel routing), and
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configure a GbE port as a VE_Port (FCIP) or VEX_Port (FCIP with Fibre Channel routing).

QUESTION 3

A customer plans to migrate from a third-party legacy storage solution to an HP 3PAR StoreServ 7000. The customer
needs to configure the storage system and the Service Processor.

What is the minimum operating system version the customer needs to run the setup wizard?
A. Windows Server 2003

B. Red Hat Enterprise 6

C. Windows Server 2012

D. Windows Server 2008 R2

Correct Answer: D

SmartStart Prerequisites

Microsoft Windows 2008 R2 Server x64 Edition or 2012 is currently running in the system ?1.0 gigahertz or higher
processor

1 GB of installed RAM (2 GB recommended)

CD-ROM or DVD-ROM drive

1280 x 1024 or better screen resolution

SmartStart Online Help is supported in the following browser versions:
Microsoft Internet Explorer 8, 9 and 10

Mozilla Firefox 14 through 21

To launch HP 3PAR SmartStart:

1.

Insert the HP 3PAR SmartStart CD.

2.

Follow the onscreen instructions to complete the installation and launch the application. Continue on to "Launching the
HP 3PAR Service Processor Setup Wizard" (page 53) and launch the setup wizard.

Reference; HP 3PAR StoreServ 7000 Storage, Installation Guide

QUESTION 4

A customer plans to migrate data from a third-party storage system to an HP StoreVirtual 4330FC Storage System. The
new storage system must contain 7.2 TB of usable space after network RAID 10 and hardware RAID 10 are configured.
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How many nodes does the customer need?
A. Three

B. Four

C. Six

D. Eight

Correct Answer: B

Note:

*

In RAID 10, often referred to as RAID 1+0 (mirroring and striping), data is written in stripes across primary disks that
have been mirrored to the secondary disks.

*

RAID 10: Mirroring without parity, and block-level striping

*

RAID 1+0: (a.k.a. RAID 10) mirrored sets in a striped set (minimum four drives; even number of drives) provides fault
tolerance and improved performance but increases complexity.

*

By its definition, a Network RAID 10 volume consumes capacity at twice the rate of a Network RAID 0 volume.

QUESTION 5

A storage administrator needs highly available connectivity from a Microsoft Windows host to an iSCSI storage array.
The administrator needs to ensure that the data is still available in the event of a network port failure. What must the
administrator enable on the Windows host?

A. MPIO

B. NIC teaming

C. storage cluster services

D. ISCSI initiator failover

Correct Answer: A

HPO-J66 PDF Dumps HPO-J66 Practice Test HP0-J66 Study Guide

HPO0-J66 PDF Dumps | HP0-J66 Practice Test | HP0-J66 Study Guide 4/4


https://www.pass4itsure.com/hp0-j66.html
https://www.pass4itsure.com/hp0-j66.html
https://www.pass4itsure.com/hp0-j66.html
http://www.tcpdf.org
https://www.pass4itsure.com/hp0-j66.html
https://www.pass4itsure.com/hp0-j66.html
https://www.pass4itsure.com/hp0-j66.html

